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1. T WA GEpadi Qe SR ST M S YRt a Y qivem"
TEURTE 3189 A “gengro yatju” 38 RN, HeR1 FiUFH FIFIR T Tadt dog @ qiew
g 5’ ? AR FuRvEaEt “Ern yatju gengro” 7 3R WU, HER SIEHM FHIR
“Ern gengro” (‘R ¥d"") Tl “Ern gangro yatju!” 374 I,

SR gangro € W=FGE gengro =0 fodidl a1y O 9@ e @ fEowy w@iHig
“Ern gangro yatju!” =1 Hata 3faa 19 Tae,

(1) YoM SiYEH . (2) ifTes v B

(3) Tagy aigwm 8. (4) ST FHEH B,

In ancient civilization, construction workers would say “gengro yatju” when wishing
other construction workers “beautiful building”. Upon the construction workers’ return,
the children would ask “Ern yatju gengro” ?, which meant “Was building beautiful” ?
The building workers would either reply “Ern gengro” (“Was beautiful building”) or
“Ern gangro yatju!”

If gangro symbolises the opposite of gengro, select the option that is most inappropriate
meaning of “Em gangro yatju!”.

(1) was obnoxious building (2) was foul building

(3) was ugly building (4) was useful building

2, yeiien SIS GO & Al e S 3T wEha | A Uy SR wad 9 91 drem
frreps
(2) SR TR T a1 Hord qort SHel W fauH e 3.
(b) T IS qorEt TV Hell e 7dE faum Avw S
(c) o SIS o AU Sk STEe ThE faur v S
() o ST g A 7T STEe aE faum v St

g I ;
(1) (b) U T8 T (2) (a) S5 T @A
(3) W () TR (4) () B () T

Select correct conclusion/s with respect to statement if direct or indirect relationship is
considered, “Rani’s grand-father’s son can be grand-father of Rani’s son.”

Conclusions :

(a) Statement is true only if Rani is daughter of that grand-father’s son.

(b) Statement is false even if Rani is daughter of that grand-father’s son.

(c) Statement is true even if that grand-father’s son is Rani's paternal uncle.

(d) Statement is true even if that grand-father’s son is Rani’s maternal uncle.

Answer Options :

(1) All are true but (b) (2) All are false but (a)

(3) Only (c) is true (4) Either (a) or {b) is true
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T g AN The News : A User's Manual ( F1a= : aTRVIRAS! Arfaldian) M e fraaore
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(d) WWWWW&@B%WWWWW

fHehaEd HeHd SR M.
wafdt eay
(1) (d) Foram ol T, 2) (o) fram Tl 7Rl
(3) (b) o wHd L. 4) (o) Tooma T A

Louis Bowden, a researcher, while reviewing De Botton’s The News : A User's Manual

comments :

As per hypothesis put forward by De Botton, it is not the role of news to enrich our lives

or make them more fulfilling. Even the most ardent advocates of the fourth estate and the

most altruistic of news commentators would choke on their breakfast at the very suggestion.

These claims are the domain of self-help gurus, reality television competitions and

fundamentalist devotees. Whilst idealism isn't in itself a redundant thought experiment,

a manugal of news media without a thorough exploration of the definition, role, limitations,

history and contemporary milieu of news just might be, Ultimately, despite some original

idqsights:, The News suffers irredeemably from alack of refinement, precision and meaningful
iscussion.

Select the statement/s that is/are not true with respect to the above comment.

(a) According to reviewer, De Botton’s idealism about the role of news is totally futile
thought experiment as there is a need to explore definition, role, limitations, etc. of
the igeal news.

{b} According to Louis Bowden role of news is not to enrich our lives or make them
more fulfilling.

() Major drawback of ‘The News’ is that it doesn’t provide bases for meaningful
discussion about the ideal news.

(d) Altruistic news commentators also will not agree with De Botton’s Idea about role
of news in public life.

Answer Options :

1)  None but (d} 2)  None but (c}
3) None but (b) 4) None but (a)
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R, ] TAHE, go T, AL F fohs 3R, SEHer YU W TEAFR faheas
FAHE FU TYSA ST o TGS TaHA T
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(1) R e (2) fe=m (3) W fww (4) @@

Though not most pleasing form of wood to look at, quality plywood has become an
incredibly important building material. It is flexible, comparatively inexpensive, termite
resistant and durable. Its strength is due to layers of wood grains glued on the top of each
other, with the grains of each layer making a right angle with the grain of the layer below
it. This way of layering sheets of wood particles make plywood sturdy.

Select the quality of plywood that depends on its strength gained due to the peculiar
arrangement of wood grains glued together.

(1) ecofriendly (2) durable (3) termite resistant (4) cheaper

5. T 4 gud vor FEA @ =Eid T wiok g w1 frspd e v S 9 9 sien,
ey
(a) W& A IPU 7 AN 3T
(b) ARG A VST IFU 6 TN R A Wl SZOMAEA 1 AW FH AL,
() TTT A g I 9 AN TR,
(d) =IAF A §HE TP 11 T IR, A T o ~gqich IPOMIR 3 TEIA IR SR,
gt F
1) (@) @ 2) @) (@© (@) (a), b @ {) @

Identify two facts that prove conclusion, “London to Dubai is quicker than London to
New York.” to be always true.

Facts :
(@) A flight from London to Dubai is 7 hours.

{b) The flight from New York to London is 6 hours, which is 1 hour less than retum
flight.
(c) A flight from London to Dubai is 9 hours.

(d) A flight from Dubai to New York is 11 hours, which is 3 hours more than flight from
London to New York.

Answer Options ;
(1 (@) ) (2) fa), (© (3} (), ®) 4 (b))
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6. =it FHEE & WA gREE e @ i g awe R EHe 4.8 9 9§ 9w T
T SIS FEH Tob WU i HON T’ R F G AR,

e Yfoarg gaa FN faym fae.
(1) THIE S SR TR 1 18 oA § FHAR TS[ER IH FIOT @d-IPT HTama A
& e oo Wa:d! eauE .

(2) Tafag o FoiqE e 9 SFR Bk w9 e 9 waed shem wim.,

(3) WA AgaE IS IUW ¥ Syl SEaE, ikt SARHT SHH o 7 ¥ HH Al
2.

(4) MARS S Ferare T 90% ST SNt =it wred! JehneT st o
20 viE T

India’s problem is not job shortage, but poverty. Unemployment rate of 4.8 is not the
problem, but the fact that our labour force is “working poor”,

Select the statement that weakens above argument.

(1) Poor people cannot afford to remain unemployed and therefore they are self-employed
at subsistence wages and it is a self-exploitation.

(2) Poor and unemployed people are earning wages through various government
schemes and lead a dignified life.

(3) Most of the enterprises in India are informal, have low productivity, and consequently,
do not pay the lower wages.

(4) Informal employment in India is 90% and earning descent wages is not possible in
informal enterprises.

7. Wiud faare deten I TE e 68, A7 Aot HE A Mol FO. e it SR
T A O, e RIFANen s 93y enan S T e 69,

T T A e ORI cHed geEun yaiy e
(1) (2) (@) @ (4

Parmit collected more samples of seeds than Rose. Rose collected fewer samples than
Neel. Neel collected more samples than Parmit. Ruta collected more samples than Parmit
but fewer samples than Neel.

Select the option that indicates person who collected highest number of samples.

(1) Parmit (2} Ruta (3) Neel (4} Rose
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8. e T 25 Y 122 @k o s 20 RIS 90 W% aEHSIeHaE 6 S HeEER
fomusd T AR ;' HAIB MR 5 Saddt e 400 Rl w1 N A 65 Rl o R W
TR TS e TR o 6 S A%el aryE ARt S fEEE = faet
(F A TR SHEEHY T T30 3 EI )

(1) 14 (2) 15 3) 12 (4) 13

Nemi wants to move 122 boxes weighing 25 kg each and 90 boxes weighing 20 kg each,
from the ground floor to the store located on 6'h floor of our office block. Due to heavy
rain no one is there to help him. The notice in the lift reads “MAXIMUM LOAD :
5 persons or 400 kg.” If Nemi weighs 65 kg., then select the minimum number of journeys

" he needs to make from ground floor to 6t floor for completing the job safely.
(Assume that volume is manageable in these journeys)

(1) 14 ) 15 3) 12 (4) 13

9. M, g, s, wiaa, wiem, wfam, g i afw adomn tvee @ =,
() wfm i Afem == Al TERURER S
(b) @ snior &ar a1 sfn s srfeaTem AR TR
(c) T & T IEHe 3N o s fad R
(d) fem € stfemrem dt et enftn wfemn & o Il TR
S wfean sufn <ran =it P FREEES Fea (Eods! Sivd favm gwe ste?
(1) € & wiadren FEe gl Sl IR
(2) G & wfaarsn Seiws S e SR,
(3) < & wfaarem ek a7
(4) Wi @ Faa=n seEwe TE AR,
Sana, Deepa, Anita, Savita, Alia, Kavita, Sunita and Vanita are playing cards sitting around
a circular table.
{a) Anita is exactly facing Alia.
(b) Sana and Deepa is not neighbour of Anita and Alia.
{¢) Vanita is right of Sana and neighbour of Anita.
(d) Kavita is not neighbour of Alia and Savita is not neighbour of Deepa.
Which of the following is false if Savita and Deepa interchange their positions ?
(1) Deepa is immediate right to Kavita
(2) Sunita is immediate right to Savita
(3) Deepa is infront of Kavita
(4) Savita is immediate right te Kavita
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10, 9 VIRUETRASN 90 TN <9 STl S WIS U O § O YeETAn TH SR
O (o3 WA 4/3 S, AT IEUSTAN Wel a8 WS e 9 S HHAr e
YaTd e e i TEU T 1,536 WY HOl. W A YRNIGTN UH SHI9E! SR T Wi
(1) 126 (2) 128 (3) 120 @) 114
The bus fare for two persons for travelling between two cities is four-thirds the train fare
between same places for one person. The total fare paid by six persons travelling by bus

and eight persons by train is ¥ 1,536 between these two cities. Select the number that tells
train fare required for one person between these cities.

(1) 126 2) 128 (3) 120 4) 114

11, gfewn mifes=a 5 o St siem afa fae.

Select appropriate image for 5% place in the following image series.

Y
0 H‘J;- o )11. o )—¢l. @ ’ﬁ—(

12. e faumren wevia @wg v fas

(x+a) (x—b) (x+¢c) x—~d) (x+e)....... (x+y){x—2)=7?
(1) axz ' 2) 26

(3) x¥1 2671 UMI® (4 IYI

Select the correct option with respect to following statement.
(x+a) (x-b) (x+c) (x—d) (x+e) ... ... . x+y) (x—2)=7
() axz {2) 26

(3) x to the power of 26 (4) Zero
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13. T Wk vaht Friem, (e, smrem, Farae steng nfon Jegess ared Sl 9T o USSR
geft Frite 2 W% 6 = femstt, TaAve ok e R 5 = faaul, T wred e T 4 e
Terarall, e e W 3= Taail enfor amTeEm 2 T 2 = feanit wd dem. Wi 180 fEdien
Fromda ¥ e frgen J= w At dedie @ e e faum fae

(1) Tere s afol g Tred T 9 e T Y.

(2) @ e 3w I wie

(3) Toawe swa, arem At YaeE 3 e 8 Ko v Sedis,
(4) e Pl i e e 10 feom e Yedie,

In a school there are five hobby clubs and they are bird watching, painting, tgardem.ng,
film appreciation and book readm%h The bird watching group meets every 6 g‘
appreciation group meets every 5 day, the book reading group meets every 4% day,
painting group meets every 3™ day, and gardening group meets every 2 day. Select the
false statement with respect to this information about these group meeting on the same
days during 180 school days.

(1) Film appreciation and book reading groups will be meeting together on 9 days.
(2) All groups will be meeting on together 3 days.
(3) Film appreciation, gardening and reading group will be meeting together on 8 days.

(4) Bird watching and painting groups will be meeting together on 10 days.
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YRAT 28 A1 e =9 S, Fal, sifvaiam sufn i wvawite fafay s o=

AR el giet T tae e FieaR Sovame fahen snaem st wiimn 9ar
UIFfAE 3 YA U SR i TSoe] N T e Sa SMSHEs MRd. S
WIE- F Hiwdie afagamite e 9 et § arde-1ie s @1 gags ahm
BITSER A TS B Fee1 3T, ey, Faian anfoy swet <sigpa A suftn siwiver & sliageie
SHOG A S HT B,

dRfEs favmR aale S addra iR s oty faer
(1) = YREE uRfaETa 7 T U S a0 i T e 99 e,

(2) wffamHr=n FEe Ui T WUE IUYE 5& W S o7 e wfam
SESS AT YR .

(3) FH WRAR YdifaEE TR B 0 @, S SR i ToeaT Wi sTeese ot
ffdar e T,

(4) R gAAwE 9 YA Hed, wHrE 39Em Rewr ifEas swmw wvm
TR ASA FEW I Ui WA TSI A0 WSUEEt ST TEe.

India depicted gods and goddesses in the form of icons, sculpted Yakshis, Abhisariks and
many actions of daily life in detail but didn’t bother to record political history or images of
our kings. There is no place for our kings on coins of that era. Despite ancient Indians
having excelled in metallurgy and in iconography, metal coins minted by them were
shamefully crude. When the Indo-Greek rulers like Demetrius and Menander in Bactria
on the Indo-Afghan border were minting coins with their life-like images imprinted on
them, our Ajatshatru, Bimbisara and even Chandragupta Mourya and Ashoka were issuing
crude punch marked coins.

Select the option that interprets underlined statements most logically.

(1) Indiansthough excelled in metallurgy and iconography, lacked knowledge of minting
COINs.

(2) Due to lack of knowledge of iconography, India did not use coins having images of
kings that could have been served as historical record.

(3) Though Indians excelled in iconography they did not use it to create coins with
king’s images.

(4) Indians did not use their skills of iconography and metallurgy for minting coins
with images of kings that could have served as important historical record.
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15. 3 fedon qfmmme S anfn Tatd St ARRETE STgH NiwE STHuT e Teee
Ty fraen

TR T T WO FA T A A G, T G S0 F e RO W
AR YIRS . T HiE=m Wl TR, =R TS FH Rl H FE FO Wi,

(1)

2

&)

(1)

FRIFEERTE! R % 60 T gaE1 37 age. O ARETEINEt W g HE He A
i T e HF. TEo SeaSTT TEN 38, SR A Il Y 3 qHA
31 1 AeS Wi,

TR G FRA TR P Jua e @ gEd AR guite. e i aue S T
g f oA gune W R Jo UE wet oven TR, ShAfEd o € 99 WY Juren
AT, TRagE S S v,

R T TRAEIET Y e ¥ T g T ERE. T e S e w
O TR B WY T YUIOS 6. I S A Wi Te STe B9 wd S Avn
T W frafta gua @ wiEs.

wfgeiren yreErE! TUE TS . IRl SV Wl SR U H
e T W IREEE 909 F9. TAEE §1S Mo W A el SR s st
W T TR AT,

Study the argument given below and select the option that indicates argument with most
closely similar reasoning.

If you practice playing flute, your playing will get better. 1 have not practiced playing
tabla, so my playing has not got better. There is a competition next month. So ] must
work hard to do well.

(1)

2

&)

4)

If you work hard at cycling you will get faster. [ have worked harder to get faster,
and I have started winning competitions. There is an examination next week. If
want to pass it I must keep studying.

If you practice regulatly playing harmonium your playing will get better. Rasika
has not practiced much but her playing has got better so she must have worked
enough. She may even pass her Visharad examination latter this year.

If you work hard at singing you will become better. 1have not worked hard at my
dancing skills, so T have not become better. I have an examination in next two
months’ fime. So I must practice every day to get higher grades.

Practice is necessary for achieving perfection. I have practice hard on my problem
solving skills so I should soon be perfect. I am participating in competition coming
up soon and I am surely going to win it.
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16. @oAe AN FIorcar FerITsaT ST 38 ?
(a) q&ri?ﬁ 'ﬂé ﬂ@ﬁﬁﬁﬂﬁ T NSS! JGAE.
(b) Gedi=H WIS | A HS FEowl 6.
(c) e el FRE TR
qaiat I ;
(1) 30 wiEYT Feugeda o (2) o uFEE |av
(3) fort 3 (4) SO HIoRE T
Which type of forests have the following characteristics ?
(a) The roots of the trees comes up from the marshy area.
(b) The trunk of the trees have roots on its all sides.
(c) The trees don’t have much height.
Answer Options :
(1) Tropical semi evergreen forest {2) Moist deciduous forest
(3) Coastal forest (4) None of the above
17. e &an
b pH
(a) A ) 45955
(b) STohywHl (i) 551765
(c) WIERT F=5 (iiiy 75965
(d) W= TS {ivy 65975
ol I
(@ () () (@
U O G G adv)
@) @ G (v) )
(3) @iy (@v) () ()
(4) (iv) @) @) @)
Match the following :
Soail pH value
(a) Nentral () 45tobb
(b) Alkaline (i) 5.5to 6.5
{¢) Slightly acid (i) 7.5 to 6.5
{d) Moderately acid iv) 651075
Answer Options :
@ & © (@
@ @ @ 3G @)
(2) (@) @) (@) )
3) @@ {v) @ 3@
(4) @v) @) (i) (@
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18, T 2011 B4 FTVHIHR HHULTNS T HpUera ywl T AL,

(1) 35.14% (2) 45.23% (3) 50.68% (4) 60.32%

As per 2011 census percentage of urban population in Maharashtra is

@) 35.14% ) 45.23% (3) 50.68% 4) 60.32%

19, 1951 =1 SOVRYHN RERTRES Senardl vl fwdt €t ?
1 104 2) 164 (3) 257 (4 260
As per the 1951 census what was the density of population in Maharashtra ?

(1) 104 2) 164 (3) 257 (4) 260

20. ' fasa’ W SR i g 2
(1) R FrE T
(2) vt frwmatra sead
(3) g wudh b o
(4 =oud
What was the objective of horticulture development ?
(1) To provide work to labour
{2) To increase profitability of agriculture
{(3) Creation of natural resources

{4) All the above
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21. S @E
et veaear Hoamr a4
(a)  wraEn (i) 1962
(b)  THFET (i) 2002
() = (i) 1952
(¢) WeeTE  (v) 1991
Tt I

@ b @ (@
1 @ @ ¢G) @)
(Z) (v} (i) Gy ()
@) () @ (v) (@D
(4) Gv) (i) @@ @)
Match the following :

Hydel Power Project Starting Year
(a) Bhatsa (i} 1962
(b) Radhanagari (iiy 2002
(c) Koyna (iii) 1952
(d) Majalgao iv) 1991

Answer Options :

(@ @) (© (@
1 O a4 Gy @)
(2 (v) @) @@ @
By @) @@ (@v) (i)
(4) vy (i) @ (i)

22. o fSicenen veraerte fod Segasn fam smd ?

(1) 03 2 04 @) 05 4) 06
How many district boundaries are having to Latur district in Maharashtra ?
(1, 03 (2) 04 (3) 05 (4) 06

23, WOTUE R TN WOE Joett 9 fagve o sigel med ?

() @ (2) Wi @3 i (4) frem
In which of the following river basin, Yeldari and Sidheshwar dams have been built ?
(1) Tapi (2) Manjara (3) Purna (4) Girna

oAl el SN /SPACE FOR ROUGH WORK
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24, SEREE, TOES & W FI0A! fHeRa ST ?

(1 (2) 3 ™ (4) TR

In which district Ozarkhed, Palkhed dams are located ?

(1) Sangli () Satara (3) Pune (4 Nashik

25. TERTE ala Hiel W Sl Yoo Hvre fwon TE 30 2
(1) faEwT (2) "= (3) wBgEd 4) T
Where the largest solar energy project is functioning in Maharashtra ?
(1) Chikhaldara (2) Malegaon (3) Kalsubai (4) Sakkri

26, HRATE T A=A 39, 1887 TN HEW AHATER HeAw w7 9 ?
(1) ¥ g T (2) e FReg
(3)  TIITEE TS (4) ShER A
Who was the President of Indian National Congress, 1887 held in Madras ?
(1) Barrister Badruddhin Tayybaji  (2) Dr. Anni Besant

(3) Gopal Krishna Gokhale (4) Umeshchandra Banerji
27. & 0 SR G T WER T,
(1) =M TR (2) T SR
(3) St el | 4) THTE S
was not the founder member of Sarvajanik Sabha of Pune.
(1) MG. Ranade (2) G.G. Agarkar
{3) G.V. Joshi (4) S.H. Sathe

B ——
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28, 1890 Wedl T T At v faeoig e

(1) HRRe Mg T (2) I SRR W

() faway meEm dedts (4) T FeT TRES

became Secretary of the Poona Sarvajanik Sabha in 1890.

(1) Mahadev Govind Ranade (2) Ganesh Vasndev Joshi

(3) Vishvanath Narayan Mandlik  {(4) Gopal Krishna Gokhale
29, e oo T :

(a) wA G) wRdr U gee mfaeig

(b) e A (i) wRdRA T AN wive

(c) TIIIS FO TiREeS (iii) WRArE T w9 Aol wgge afem

(d) <t ATt T (iv) WG U O e e SafieTd

et T :

@ (b © (@

() @ @@ @) (i)

2) (v) @) () (@)

@) @ (v @ )

@ ) G (v) (i)

Match the following :

(@) Hume (i)  General Secretary of the Indian National Congress

(b) Dinshaw Wacha (ii) Secretary of the Indian National Congress

(c) Gopal Krishna Gokhale (iii} Additional Joint Secretary of the Indian National

Congress
(d) Daji Abaji Khare (iv) Successor of Gokhale in the Secretariat of the

Answer Options :

(1)
(2)
3)
(4)

@ () (@ (@
M @) (@) @)
Gv) (i) (i) @)
iy (v) @) (i)
(H ) Gv) (i)

Indian National Congress

AT HIATAG PN /SPACE FOR ROUGH WORK
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30. R g TERET SF, AT, iTeHU __ HSA o B,
(1) ‘eRem 9y = vEmEe
() T TREETEE
(3) “HF AEEEN TS
(4) ‘IRESHa AE’ = GEEHEE _
Shahu Maharaj of Kolhapur had helped Dr. BR. Ambedkar :
(1) For the publication of “Harijan Bandu”
(2) For the publication of “Swarajya”
{(3) For the publication of “Mook Nayak” _
{4) For the publication of “Bahiskrut Bharat”

31. R e o, e TR, S 39 seEiTe SifvmE gEam Eil
FA. _
(1)  UIN. TSR () NF TES
(3) T SRS (¢) WAL

Native General Library, Female High School, Western India Industrial Association were
started by : .

(1) R.G. Bhandarkar (2) GX. Gokhale
(3) G.G. Agarkar 4) M.G. Ranade

32. Wwﬁmnﬁqﬁﬁmmﬁa&a&aﬂvﬁﬁaﬁ?

(a) WA T (b) TLF. R

(c) rETh TR (d) =i e

vqtet 3w

(1) T (a) @ @3 @ @ @ @ aAfrE)
Who from the following had established Indian Social Conference ?

(a) M.G. Ranade (b) MXK. Gandhi

(c) Beheramji Malbari (d) BG. Tilak

Answer Options :

(1) (a) only (2) (a) and () (3) () and (d) (49) (a) and (d)

TEAT HETETS ST /SPACE FOR ROUGH WORK
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33. S @mE
(2) T TS () o gEw ge
(b) TR iR (i) I iy o=
(c) e TWER (i) feies som fied
(d) TR f¥ie (iv) T fsw Hive Foa
ot v

@ () (g (d
1) v (@ G ()
@ vy O @) (1)
(3 G (v O @)
@ 6 G G (i)
Match the following :

(a) Ramabai Ranade (i)  Stri Purush Tulna

(b) Janakka Shinde (i) Arya Mahila Samaj

(c) Pandita Ramabai (i) Depressed Class Mission
(d) Tarabai Shinde ' (iv) Hindu Ladies Social Club

Answer Options :

@ (b} {9 (d
M v G @ O
(2) vy () () @)
(3) W) (v) @ @@
@ O @ G @)

34. . fezwi 23 ufye 1916 @ qrawed = A FA
(1) WAL (2) SFPA GYHIA Hrared
(3) wEE FoA (4) s fom
Lokmanya Tilak founded at Pune on 23" April 1916,
(1) Prabhakar (2) Deccan Education Society
(3) Fergusson College (4) Home Rule League

HeAT FHHER™ 9 /SPACE FOR ROUGH WORK
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35. ‘T gaeRe ffg g9’ § g T fodi.
1) =E wee ) ufea T
(3) TIER SAEEH (4) B Ade
The book ‘The High-Caste Hindu Woman” was written by
(1) Lady Falkland (2) Pandita Ramabai
(3) Ramabai Ambedkar (4) Lady Wellington

36. ToUT TTH Tstore Wit Seurs Tsis! HoR STEwrs IRuW S 3/ e ?
(a) T faue a9a fawsH
(b) T faum aiees s
(c) TouwEe Tt qiest ag=
T faeem wagE 3 S Al
Qn ® 2 (@) 3 @ {b) @ @ b)©

Which of the following are not necessarily the consequences of the proclamation of the
President’s rule in a State ?

(a) Dissolution of the State Legislative Assembly
(b) Dissolution of the State Legislative Council
{c) Dismiss of the Council of Ministers in the State

Choose correct answer using the code given below.

1) (@) () @ @), © 3) @ {b) @ @ ) ©

37. TS feel AR@ai =maie Soneed Fee g ?
(1) 39 A Jes Araits (2) TS

(3) T Hixvse (4) T HeTeERT
District Judges in a State are appointed by whom ?
(1)  Chief Justice of High Court (2) . Governor

(3) Council of Ministers of the State (4) Advocate General of State

HeAl TR FAT /SPACE FOR ROUGH WORK
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HREHE TETIR=H1 IR SFSSSTIER aio -rRIeie ;o ey q femern Tfden swarm
Ffuwr 3% ?
(1) =% 137 (2) TR 143 (3) T=T 136 (4) ITRT 138

Under which article of Indian Constitution, the Supreme Court having the power to review
its own judgements and orders ?

(1)  Article 137 (2) Article 143 (3) Article 136 (4) Article 138

39.

TS R ARTEEie A e e O
TR T
(a) 39A (i)  SETHIT ST HEEE WEE
(b) 40 (i) AMERTER W AR e
() 43A (iif) T T § FEOvTE TFd Herd
(d) 44 (iv) WETERGEE e
qgiet I

@ ® (©
(1) @ @) @@ )
(2) @) (v) @ (@)
@) @ O v (@)
(4) @) @i G @
Match the pairs regarding Directive Principles of State Policy :

Article Provision
(a) 3%A (i)  Participation of workers in management of industries
(b) 40 (i) Uniform civil code for the citizens
(<} 43A {iii) Equal justice and free legal aid
(d) 44 (iv) Organisation of Village Panchayats

Answer Options :

fa} (b} (9 (&
v O @ 3@) (iv)
@) @ v O @
(3 ) @ Gv) (D
4 W @) @ @O

oAl FIATAS 90T /SPACE FOR ROUGH WORK
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40, VRARTS Gdie ey At I e Fisal e AR AEenia aretatE Hiow
Taeme wOET AR ?

(1)

(2)
(3)

(4)

Hals =Ied 6@ YoVH TRl SIHSTEuiEEt TE T R FROMEHE Al g

T e AU SR #1g YFam ot waller e FRuvRe SRy wig U .

T =TT e AfeTe Al ST g Y Y i TRl GehR I =R
92 Tl e o TTed STieHl H1g, Y.

¥ T 9 TN TR THIEEiiG] AE ot S FRONGISE SR g

Which of the following statements is correct about the difference between the writ
jurisdiction of the Supreme Court and High Courts in India ?

m

(2)
3
4)

The Supreme Court can issue writs not only for the purpose of inforcement of
Fundamental Rights but also for any other purpose, whereas High Courts can issue
writs only for the purpose of inforcement of Fundamental Rights.

High Courts can issue the writ of Injunction whereas the Supreme Court cannot
issue the writ of Injunction.

The Supreme Court can issue writs only in the case of appeal, whereas High Courts
can issue writs only when the party directly approaches it.

High Courts can issue writs not only for the purpose of inforcement of Fundamental
Rights but also for any other purpose, whereas the Supreme Court will issue writs
only for the purpose of Inforcement of Fundamental Rights.

41. 1976 TN 42 =] VARGE AfyfaTaEd St S| fam S TR ?

ey
(2)
)

(4)

TATME Tl THSERT 3 SHAOE ¥ 9 769 7 Sievan 19,
Y gesrar Woo WAt SThRE SR .

= e it I AR Aifas Eemar et witewd Fevars AfuER &
HEifen TR A,

AFGHT A0 T FaTasi=n wriies 5 auiaed 6 qE9Yq SRieavan e

Which one of the following statements regarding the 42° Amendment Act of 1976 is
incorrect ?

1
()
(3)

(4)

Added only two new words i.e. socialist and secular in the Preamble.
Made the President bound by the advise of the Cabinet.

Curtailed the power of judicial review and writ jurisdiction of the Supreme Court
and High Courts.

Raised the tenure of Lok Sabha and State Legislative Assemblies from 5 to 6 years.

oAl HEG! W /SPACE FOR ROUGH WORK
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42, TP FR fEuE/R w06 AR/3?
() IRA G ROl EeY (€T FEE WAt SgHa oee Wb
(b) FHI TS RIS [AANTTI HTaTied T Taftriserst wAdt snaTaE .
(©) WWWWWH%%&WW@WWW
ey SavEs A,
(d) T FEWE a5 HTAE sl TAtTEw! ey SomsTigT Uy T SR
W e fest.
it s
1) (a) ¥ @ (@ @ 3y ) @) (d) @ @ ©
Which of the following statement/s is/are correct ?
(a) The territory of the units of the Indian Federation may be altered by the Parliament
by a simple majority.
(b} The consent of a State Legislature is necessary before the Parliament redistributes its
territory.
{c) The President’s recommendation is necessary for introducing in the Parliament a
Bill on redistributing territory of any state.
(d) The President must receive the state’s opinion before recommending a Bill on altering
the name of the state.
Answer Options :
(1) (a) only 2) (© @ @3} (b) (o) (d) 4 @@
43. @A [99A faead =i .

(a) FTEaafE yadmy Fwy T fafuHsa SeEee s

(b) TR UGG TR T T O IS I vl

(c) STOTF wEHa STy 8 e T E 7%,

(d) vRane Hug™ ggdd TR T Ao T TE 3T

SheiE R faum T sed ?

1y (. ®) 2 ®. @ 3 (@ @ 4 (b (@

Consider the following statements :

(a) In Presidential system; the President is accountable to the legislature.

(b) In Parliamentary system, the head of the state may be monarch.

(¢} In Presidential system, the President is the head of the government.

(d) In Parliamentary system in India, the President is the real head of the government.
Which of the statements given above are correct ?

1) (@ O (2) () () (d) B} @ (@ 4 ®)

o] HEEA AT /SPACE FOR ROUGH WORK
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44, IOy faym Ae=an.

(@) YIWUF ¥ STTL-T= TR STeae ST,
(b) T T FEA ¥ SR-T TR TR .
() vRdrE WM ST 273 ¥ SR-Te Yitwewl! Hafid she.

gt s
(1) = (a), (b) (2) % (a), (o)
(3) wH (b), () 4 dew

Select the correct statements :

(a) The Prime Minister is the Chairman of the Inter-State Council.

(b) Chief Ministers of all states are members of the Inter-State Council.
(c) Article 273 of Indian Constitution is related to the Inter-State Council.
Answer Options :

(1) Only (a), (b) (2) Only (a), (0)
(3) Only (b), {c) (4) All of the above
45. GO FK AR S A ?

(1) TSR 966 (Right to Privacy) 8 Sifea 9 safemm w@mdsren sifayms s &R
(2) ESTOTE Bk B YOYd 356 AT

(3) TAL ¥\ W (1954) A T 61 Fewn (1962) e R AreA e e
T i, WU T 8 oV & T,

(4) SUSYF! Tl TR

Which one of the following statement is incorrect ?

(1) Right to Privacy is an integral part of Right to Life and Personal Liberty.

(2} Right to Privacy is a Fundamental Right.

(3) In MP Sharma case {1954) and Kharak Singh case (1962) the Supreme Court ruled
that Right to Privacy was not a Fundamental Right.

(4) None of the above.

Tl HIAHE AW /SPACE FOR ROUGH WORK
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46.

47,

24 A
() ¥ wasy sfufam
(b) SR Wy FrwE
() 3Ffcrr wreq® (wfaay) Fmam

(d) TR g% WIRW &g

i 36T
(B (o) (@), (), (d) 2 ) (d), (). (a)
(3) (@), (b} (@) () (4) (d) (a), (®) (©

Arrange chronologically the enactment years of the following Acts by using codes given
below.

(a) Dowry Prohibition Act.

(b} Child Marriage Restraint Act.

(c) Immoral Traffic (Prevention) Act.

(d) Protection of Civil Rights Act.

Answer Options :

(1) (o) @) (b), {d) (2} (b, {d) () (@)
(3) (@) (b} (d). (©) (4} (). @), b))

* SR nfafaet (fvey) sifufm, 19677 <0t Fo sg=T wiaefta <svaar) suedl
T Y& S ?

(1) e s (2) TEG SEEE

3) fowd s @)  FeTR FED T

Which schedule of “The Unlawful Activities (Prevention) Act, 1967” provides the list of
banned “Terrorist organisation” ?

(1) The First Schedule {2) The Second Schedule
(3}  The Third Schedule {4) None of the above

Foal HIETES S /SPACE FOR ROUGH WORK
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48. VIR To9 T SIS89 TS T e A fasfoa s dedt 30 g afds
fra SR Wit & e sre T I T 30 ¥ T S 9T,
(1) 39 (2) 39-A 3) 51 (4 51-A

It shall be the function of the state under Article of the Indian Constitution to
ensure that opportunities for securing justice are not denied to any citizen by reason of
economic or other disability.

(1) 39 (2) 39-A @) 51 @) 51-A

49. FHTYFIa W o Srqgiea St (ST fraRe) sy, 1989 =N RN Fewiaid
ol =raTEAER Wg FA IR ?

1) 14 2y 17 @) 21(1) @ 21(3)

Under Scheduled Caste/Scheduled Tribes (Prevention of Atrocities) Act, 1989 in which
section there is a provision for arrangement of special court ?

1) 14 2) 17 @) 21(1) (4) 21(3)
50. fanaom=n AfywR o qovE fwR =R a1 Tt Jvama .
(1) 2002 (2) 2005 (3) 2009 (4y 2010
The Right to Education is given as Fundamental Right in the year
(1) 2002 (2) 2005 (3) 2009 (4) 2010

51. wiEHf VaEE o oaTdayE ST ¥ YRER YEEas (gE) eiufEd, 2018 M
T FEARN Fe T I ?

(1) Fo97A (2) ST 8(1)
(3) HH 9(1) (4) TStE TR

Offence relating to bribing of a public servant is pertaints to which section of the Prevention
of Corruption (Amendment) Act, 2018 ?

(1) Section 7A (2) Section 8(1)
(3) Section %(1) | (4) None of the above

FoT WIS 91N /SPACE FOR ROUGH WORK
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AT it | JEE (ST yRiE) 199, 1989 = wod 2(1)(e) F= ey wewd
sifiEia’ amn o, e sofaee fadm s i féan stfyesar wom
frdw e Tl st s/ o

1) w915 (2) o913 (3) W 16 4) FOT 14

According to Section 2(1)(e) of S.C. and S.T. (Prevention of Atrocities) Act, 1989, ‘Special
Public Prosecutor’ means a Public Prosecutor specified as a Special Public Prosecutor or
an advocate referred to in

(1) Section 15 (2) Section 13 (3) Section 16 (4) Section 14

53. WAE-owR fadelt Hifet=n sEmEE adeit 2018 9t Fome ' smiea il e
A g X 3 ?
(1) oifes wo-gEa 2y Tro we g
(3) FHA oY (4) T "
Amongst the following, who has been honoured with “American President Award” in
the year 2018 for campaign against human trafficking ?
(1) Ambika Patel - Luies (2) Minal Patel Davis
(3) Kamini Patel - Luies {(4) Elda D'Mello
54. WS THEEN GEUY STEEde el SIS TIR FUAR I GEREE iR

FO7?
(1) o Tt ue 2) <rsfae sars were
3) v faeas (4) IO g e

UN Chief, Antonio Guterres has lauded which of the following Human Right Activist for
role played by Indian reformer and in shaping the landmark documents on Universal
Declaration of Human Rights ?

(1) Pushpa Jivraj Bhave (2) Charushila Amrutbhai Sadavarte
(3} Hansa Jivraj Mehta (4) Pushpa Vinod Deshpande

HEAT HWEE FI /SPACE FOR ROUGH WORK
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A 7 @ FET, 1955 =N Foq TR ' STy’ AR T Ao
(1) 16 (2) 16-A (3) 15 @ 15-A

Under Section of the Protection of Civil Righis Act, 1955 it shall be the duty
of the State Government to ensure that the rights occuring from the abolition of
‘untouchability’ may be availed of by the concerned persons.

(1) 16 (2) 16-A (3) 15 @) 15-A

56.

AL AT HE ot HefuE R,

(1) ar gt S

(2) q< Herftn e T gy fqam o= s
(3) T fFaRi= gy SefuEE SEe

(4) TFETYHRRIY ST FCATE THRIEN HHRSl
International Humanitarian Law relates to

(1) Laws of sea

(2) Laws of war or Law of armed conflict

(3) Laws of peaceful settlement of International Dispute
(4) Law of Intervention in case of violation of Human Rights

57.

WA STt Jral IgR ST,
(a) TR anfty Teaptg Afvuerisn e WK
(b) enfii, arfas i T ias SR STawrE K

A 36y ;
(1) ™ (a) (2) T (b)
(3) (a) 3fiT (b) B (4) adStw

Among following, India is a party to the :

(a) International covenant on civil and political rights.

(b) International covenant on economic, social and cultural rights.
Answer Options :

(1) Only (a) (2) Only {b)

(3) Both (a) and (b) {4) None of the above

FAl HAES, T /SPACE FOR ROUGH WORK
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58. 'wHVE seivEe’ = v Tt A,

(1) | S8 9 99 1961 T (2) WX SAAEE I W 1961 A

(3) OE THIE ¥ ® 1961 Y (4) I Yt profE

‘Amnesty International” was founded by

(1) Peter Jonson in 1961 (2) Peter Benenson in 1961

(3) Larsen Amnest in 1961 (4) None of the above
59. gfan I 9 Sgfad SR (erarERd widasy) afufram, 1989 feaiw Jsil
HOAT AT
(1) 17 F<R 1989 (2) 30 STHaER 1990
(3) 29 @ 1990 (4) 12 |< 1989

The Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act, 1989 came
into force from .

(1) 17 September 1989 (2) 30t January 1990

(3) 29 November 1990 (4) 12th September 1989

60. Tl TSYF FAT, 1961 FOH 2 FTY W Foe Hegaw a8 o 7Y wRdm g3 faum,
1860 At AYHTT .

(1) o] 32 2) FOW 45 (3) oM 38 ) U 30

The expression ‘valuable security’ which defined under section 2 of Dowry Prohibition
Act, 1961 has the same meaning as in of the Indian Penal Code, 1860.

(1) Section 32 (2) Section 45 (3) Section 38 (4)  Section 30

HeAl FVEE AT /SPACE FOR ROUGH WORK
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61. ArE e oA

e fooig |
(a) T WU W 5. gAY (i) T 3TV Fo T S
AR .
(b) == fa, deme TR (i) IS O 20 TH TARI TN L.
() ST TR fa. veny FER (i) g YRoTETER riReE |

(d) TAT. TEIe {6, ToRe TER (v) g giie TR TRE s e
et .

it S

(a) () (0 {d
1 O @) @) @
() () @v) @@ @
@) O @) @) (@)
@) (@ Gv) ) G
Match the pairs :

Case Laws Decision
(a) State of M.P. v/s. Babunath () Burden to prove general
exception lies on accused
(b) Bacchan Singh v/s. State of Punjab (i) Life imprisonment is to be
' reckoned as equivalent to
20 years
(¢) G.N. Godse v/s. State of Maharashtra (iii} Guidelines for sentencing policy

{d) S.N. Bhadolkar v/s. State of Maharashtra  (iv) Capital punishment only in
rarest of rare cases

Answer Options :
(@ @® (& (@

@ O G v @)
@ @) @) G @
@ O @) @ W)
@ @) (v O @

woeAl THIMAET ST /SPACE FOR ROUGH WORK
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FAGTH HIT T TSEEl SR Fdod AE 7

(a) wEmR TS Afda=n e i,

(b) TR fmin groen e 2.

(c) weheam fise Grer 20,

it 3o

(1) ¥ () 2 () @) TR @A) @) FH (@)
Which one of the following is/are not legal duties of police ?

{a) to take charge of intoxicated person

{(b) to avert any danger to public

{c) to contribute in child welfare fund
Answer Options :

(1) Only (a) (2) Only (c) (3) Doth (a) and (<) {4} Only (b)

63. WeE YW Afufam, 1951 At wom A SR iRy JerEs
AT YU TEE TR,
1)y 10 {2) 10A (3) 11 4) 12
Section of the Maharashtra Police Act, 1951 provides for appointment of
Assistant Comnissioner within Jurisdiction of Commissioners.
(1) 10 (2) 10A 3) 11 4 12

64. GEIBTH! How fouE/A e e/ ?

(a) TSN Jfumren FedT Feag = a9 e 3 T Eie Feea B
(b) Tiosa IS arfusrl == w6 fafiaiueriaR staq Fel S e
() Toek Oom sfveil sfts sifiwrai=n s s

i EEY
(1) = (b) (2) WH (o)
(3) W (a) MW () (4) TSR UL TR

Which one of the following statement/s is/are incorrect ?

{a) If a Police Officer is suspended, his powers and functions are also suspended.
{b) A suspended Police Officer is not deprived from his legal privileges.

(c} A suspended Police Officer shall be subject to the control of his authorities.
Answer Options :

(1) Only (b) 2 Only @)

(3} Only (a) and (c) {4) None of the above
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65. WIAT %= Wiear 1860 THl® T _ ) fraeT dsfua sy Ty R
e,
(1) W IX (2) WU IX A (3) WU X (4) WERW XI A
Under chapter of the Indian Penal Code 1860, the provision of offences relating
to election are given. :
(1) Chapter IX (2) Chapter IXA (3) Chapter X (4) Chapter XI A

66. YRAA 35 WA 1860 T TG Hivrd/ N foau/ Raem adme it/ 2
(a) IR FEGAEHR TSI 996 e HiLa Jal. *
(b) PIER Teo YU TUeHaT SR TR Sa QTEe i 4d .
(c) waAreTan fram weifaered= S Hefvd e,

T SNt

(1) 5 (b) (2) () (3) R (b) M () (4) T ()
According to Indian Penal Code 1860 which one of the following statement/s is/are not
correct ?

(a) Claim of Juvenility may be raised before any court.

(b) Claim of Juvenility may not be raised after final disposal of the case.

(c) Mcnaughten rule deals with plea of insanity.

Answer Options :

(1) Only (b) ) Only ) (3) Only (b)and () (4) Only (2)

67. VRGN 33 Wi 1860 7S el S e srgoR e S TeTeTe
(1) o 268 (2) FBH 270 (3) w9 279 (4) FO° 294 A

of the Indian Penal Code 1860 provides for offence of malignant act likely to
spread infection of disease dangerous to life.

(1) Section 268  (2) Section 270  (3) Section 279  (4) Section 294 A

68. wERTy U sifufem, 1951 weile Sow 2(4) MHiie SRS STETH 9T e Fae.

(1) = faurg (2) TgH

(3) e (1) 39 smgE

As per the definition in Section 2(4) of the Maharashtra Police Act, 1951 choose the correct
option : .

(1) Constable (2) Commissioner

(3)  Superintendent (4) Deputy Commissioner
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69.

32 A

FEEIH B faue/ AR aier seRa 2

(a) TN Afgaet foben weai sam 0 v seam R

(b) TSR fowTol v Afwen suge fowfor s Jom Y.
(c) WS o fia =areT 49 e qeum T gwar AU T,

ot S6Y .
(1) 4 (a) (2) HK (b)
(3) R (b) T (o) (4) ¥ (a), (b), ()

Which one of the following statement/s is/are correct ?

(@) Person shall fly a kite so as to alarm to horses or persons.
(b) No person shall commit nuisance at Public Places.

() No person shall smoke or spit at Police Station or Court.
Answer Options :

(1)  Only (a) (2)  Only (b)
(3) Only (b) and (c) (4) All(a), (b), (©)
70. g < Hie 1860 weite T Dok HeAHTeT &1 o vare HehrE AT STt
g fad o
(1) %8172 (2) ®OH 177 (3) w4 180 4) wHod 189
The of the Indian Penal Code 1860 provides for offence of threat of injury to
public servant.
(1) Section 172 (2) Section 177 (3) Section 180 (4) Section 189
71, TRRTE Uiy sifufm, 1951 e 14(1) 3 (Frlempren goiten e g w5 Sviien)

et Wi ST, e U A S A IS FST TN
& WHIA <991 A30.
1 W 2 I 3) 1 (@) I

According to Section 14(1) of Maharashtra Police Act, 1951 Every Police Officer
(of the grade of Inspector or below), shall on appointment receive a certificate in form
provided in schedule

ay 1w 2 I (3 1 (4) II
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72, WY <€ HiEd 1860 THR WOGYHRT Hom! S & ¢ STORON’ " 7 I Heh g ?
(@) T Foa FagEeh &,
(b) GRS H2R TRl E.

() TETHE INiAYEF TOH HO.
qare I

(1) e (a) ST (b) (2) wH (b) (3) W () (4) T (a)

According to Indian Penal Code 1860 which one of the following is not ingredients of the
offence of an “abetment” ?

(a) Instigation to commit an offence.

{(b) Engagement in criminal conspiracy.

(¢) Negligence towards the offence.

Answer Options :

(1) Only@and ()  (2) Only(®) (3} Only (¢) (4) Only ()

73. WRASHH FHoRAl FErA HeHid SSIUHRI STHiefhihg 3EaTS T, Wehdld /
(@) A TRTRE Wiy

(b) EER AT

() TERSAE

it 3w

(1) W () (2) P (a) M (b)
(3) R (b) 3 (c) 4 w4 (), (), ()

On which of the following grounds, Magistrate may require a report from
Superintendent ?

(@) Prevention of habitual offenders
(b} Regulation of Assemblies
(c} Regulation of Amusements

Answer Options :
(1} Only (a) (2} Only (a) and (b}
(3} Only (b} and (c) (4) All(a}, (), ()
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74. I <2 Wiwd 1860 TR WersiH HvR faum,/ ey g6 e/ oma ?
(a) ‘" & S dT T 9T
(b) FHULIU HUR DI TR TR,
(c) FIEIUN S FET U0 Tl SR,

it 36y
(1) = (a) (2) wH (c)
{3) W (b) (4) I (b} S ()

According to Indian Pena]l Code 1860 which one of the following statement/s is/are
incorrect ?

(a) “Fraud” in itself is an offence.

(b} Fraudulent concealment of property is an offence.

(c) Fraudulently going through marriage ceremony is an offence.

Answer Options :

(1) Only (a) (2)  Only (c)
(3) Only (b) (4) Only (b) and (c)
75, WY IS G 1860 HYe HEWRU SIS ATHTH SS o
& e
(a) 80 (i) PRSI Fat SN STIE
(by 84 (i) HAfoRe SR Hat
() 95 (iii)  ITSTHT I HITRT Fell
(d) 97 (iv) THIUET @ AT QT Sdd Hivgrl g9
gafdt 39 -

@ (b ) (d)
(1) @) @ ) )
2y Gy (@) @ @)
G @ G (i) (i)
@ (v) @) @ )
Match the following regarding general exception under Indian Penal Code 1860.

Section Provision
(ay 80 (i) Accident in doing a lawful act
(by B4 (i) Act of person of unsound mind
() 95 (iii) Act causing slight harm
(dy 97 (iv) Right of private defence of the body and of property

Answer Options :

(@ (b)) () (d)

(1) @) @ (i) ()
(2) () (6 @ (W)
G) @ () (@) (iv)
(4) (v) G @ (i)
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TS TSt HIvE Ferel aUSEE Fdt BUEE 2

(a) T FRREE TEnn fewni vaw w1,

(b) T ST A fesa,

() e s Yt 5o w,

wid R R

(1) F (b) 2) W ()

(3) T (b) S (c) (@ ¥E @, )@
Which one of the following acts of Police Officer is/are called vexatious ?
(a) Entry in any place without reasoﬁ.able cause.

{(b) Unnecessary seizure of property.

(c) Offering personal violence to a person in his custody.
Answer Options :

(1) Only (b) (2) Only (o)

(3)  Only (b) and (c) @) Al (a), (b), ()

77.

WS FR fEFTOR qa wao iR o el fomor mu -

(a) VAR faamror (b) STHEE S () W femm
THOAH] F A 3TM/a 2

1} T (a) 2) ¥ ()

(3) R (a) 300N (c) @ ¥ (@), 0)

The police shali have free access to every such place of

{a) Amusement (b) Assembly (c) Meeting
Which one of above is/are correct ?

(1) Only (a) (2} Only (c}

(3) Both (a) and (c) (4} Al (@), (). (0
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78. ARY WEW S ¢
for= fgia ghew
(2) G e () Teg =
b)) TEEE fTed (i) SSTHE gEEA
(c) Whan® fag (i) Toframa® =R
(d) GumomER} fagid (iv) STfEER gEen
waidt I
@ (M © @
(1) @ g (v) ()
(2) (@) (d) @ (v)
(@) W) @ @O )
@ ) @ 3G i)
Match the pairs :
Theories of Punishment Approaches
(@) Retributive Theory {i) Hindu Jurisprudence
(b) Expiatory Theory {ii) Punitive Approach
(c) Deterrent Theory (iii) Therapeutic Approach
(d) Reformative Theory {iv) Utilitarian Approach
Answer Options :
@ (& (¢ (d)
1 O G@ Gv) (i
(2) @) (@) @@ (iv)
(3 (v) () (@) (i)
4 (v O G (i)
79. mﬁ#ﬁmwww“m@a"waﬁwﬁmﬁaﬂﬁm&umﬁuﬁwwa@

37 ?

(a) FITAE TEHE VAR ANF T IS H W [WARES @R A | e
TS WU,

{(b) ETERER FIETAT YA SIS WO d 1e.

(¢) UER TR A RSl [TARES fEaia 39 300 T et S Ak,

Ot I

(1) % (a) (2) (o) (3) FH @AM () @ (), b) (@

Which one of the following statement/s is/are correet in the light of term “document”

under [PC 1860 ?

(a) Any matter described upon any substance to be used as an evidence is a document.

(b) A cheque upon a Banker is not a document.

(©) A map or plan to be used as evidence is a document.
Answer Options :

(1)  Only (a) (2) Only () (3) Only (@) and (c) (4) Al {3), (b), (9)

THeAT HINTEIE AT /SPACE FOR ROUGH WORK




A 37 : H13
80. wenre YA aifufm, 1951 afus STy 9 fas=n STEMR S o

wTH R
(a) 108 G) ot @ R ade woi gt e
(b) 110 (i) SERTEAR S FAT FA,
() 122 (i) Wammmﬁmﬁmﬁaﬁi@.
(d 123 (iv) WTUHRETT %3 =T,
it 34T

@@ @ () (d
O O @ @) (i)
(2 @) @@ (v) (i)
@) (W) @) @ 6
4 @) @) @ (i)
Match the following regarding offences and punishment under the Maharashtra Police

Act, 1951,
Section Provision
(a) 108 (i) Defiling water in public wells etc.
by 110 ‘ (iiy Behaving indecently in public
() 122 (iii) Being found under suspicious circumstances between
sunset and sunrise '
(d) 123 (iv) Carrying weapon without authority

Answer Options :

@ ® «© @
® O @ @
(2 ) @ {dv) ()
B @) (v) @ @
@ v @) @ . (i)
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81. THIVIGRT Wiskan Higdm 1973 =0 ToW 41 32 WfediT aiihitam TR He 32F 53 31 ?
(1) NG I ARY FEE |
(2) ISR STYEIT=N STRTNTEA
(3) TS Tl S R
(4) TWHATEHS WS Foe SEae

According to Section 41 of the Criminal Procedure Code, 1973 when can police arrest a
person without warrant ?

(1) On the orders of the Police Commissioner

(2)  On the orders of the Municipal Commissioner

(3) Ifitis a cognizable offence

{4) On the basis of a article published in the newspaper

82. WSUT @ :
(@) R STHHE () ufeeH STy
(b) T e (i) <Re fram s
(¢) wESTH TR (i) ITTH yraRwT
(d) S o AT T (iv) vem = =ERSfash
it I ;

@ {m () (@
1y @ @ (Gv) (i)
) @) () (i) ()
(3) (@) (v) () (i)
(4) @) @) @v) ()
Match the following :

(a) Anticipatory Bail i)  First Schedule
(b) Summary Trial (ii) Arrest Without Warrant
() Cognizable Offence (iii) Apprehension of Arrest

(d) Bailable or non-bailable Offence (iv) Judicial Magistrate First Class
Answer options !

@ () @
m O @ @) @@
@ ) O @) @)
@ @) @) )
4) Q@) @) )

[

(i)
(i)

—
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83. g W faE=n
PR SiEa SRATAR e FRo e Rl FoEyardt sier 394 ?
(@ uwHad

(b) TEEE

() 0 FER TS RS T FeiEgd © SRdq

(d) e st

Tt 3y

(1) () (2) = (b) (3) W (d) @ (o 3 ()

Choose the correct answer

According to CrPC, what is the duration for which warrant issued remains in
force ?

(a) One year

(b) Five years

(c) Untill it is cancelled by the court which issued it.
(d) Untill it is executed

Answer options :

(1)  (a) only (2)  (b) only (8} (d) only 4} (0) and (d)

84. R Wi GiEan, 1973 41 FO9 125 94 Hione Haty s g Il 7
(1) ==, T e S TEnd st Tel.
(2) oK, @ faE Foaw e wee W 9 R SEE aow
(3) N, ;a1 fHale Fog™ W 3THeS TeiS e I
@) ofewd

As per section 125 Criminal Procedure Code 1973, who are entitled to get maintenance
allowance ?

(1) Person’s wife who is unable to maintain herself.

(2) Person’s legitimate or illegitimate minor child, who is unable to maintain itself.

(3) Person’s father or mother, who is unable to maintain himself or herself.

{4) All of the above
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85. RGN W& JUST SIS FVE FOHE RN dais IGT 39 ] S @i
T fag F@E ey 9 ?
(1) %o 50 (2) oW 52 (3) P 53-A (4) FOH 54
According to which section of the Indian Evidence Act, the evidence of character or previous
sexual experience of victim is not relevant ?
{1) Section 50 {2) Section 52 {3) Section 53 A (4) Section 54
86. YEIo fawmian WRdr H&ll QR Hraemseyie faar w1

(a) TG i T S99 TR ST S 7 UISadl SEie Sieid e oRal 49 Al e.
(b) THE A SUEH A A, TF T A S=E S

g 3 el

(1) (a) TUTT T (b) F TR

(2) (o) TF ST (b) TR SR

@) (a) 3 (b) TR TquR o FRA.

(@) (a) 3nftn (b) e foum 9% .

Think about the following statements in relation to Indian Evidence Act.

(a) Signature or handwriting of any person may be proved in the court without sending
it to the Expert.

{b) There is a fixed format of taking “dying declaration” and it should be taken in that
format only. :

Choose the correct answer.

(1) (a) is correct and (b) is wrong.

(2) {a) is wrong and (b) is correct.

(3) (a) and (b) both the statements are correct.

{(4) (a) and (b) both the statements are wrong.
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87. & faymian foem #0 : |
(@) PR ghm fed 1973 =4 aqdl 9T FIEAR T g YU R o S,
(b) ﬂmwmwnﬁm@ﬂmmmwwm.
[ SR FEET
(1) fam (@) T S (b) WK .
2 faur (a) SR ST (b) T .
@)  (a) 3T (b) T fawry T oA,
@) (a) 37 (b) T} Forem =R a2,
Think about the following statements :

(2) Criminal Procedure Code 1973 extends to whole of India except the state of Jammu
and Kashmir.

(b) The Indian Evidence Act 1872, applies to the whole of India including the state of
Jammu and Kashmir,

Choose the correct answer :

(1) . (a) is wrong (b) is correct.

(2) (a) is correct (b) is wrong.

(3) Both the statements (a) and (b) are wrong.
(4) Both the statements (a) and (b) are correct.

88. WPNCR Sinar Sfedsar SN FourTal oes defuerl mren SAfusr srea wnfe divis
W, PR R 16 TAva/ Wiadd & Il ?

(1) Fo8 149 (2) FTH 144 A
(3) w144 (1) (4) FIH 152 A

Under which Section of CrPC, the District Magistrate can prohibit the carrying of arms i
any procession in any area within the local limits of his jurisdiction ?

(1) Section - 149 (2} Section - 144 A
(3) Section - 144 (1) (4) Section - 152 A
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89. IR el T FAMATIA TEOTH HI FSoT DI -y 1w 2
(1) o sTErEER SR e 99 feow wedivar,
(2) Fion dfts sifuerarn e fow HePia.
(3) difeae wif-raEn s fKoe FeeeEm.
(4) o wd
Which of the following type of confession is unacceptable by the court, according to
Evidence Act ?
(1) Confession made to a police officer by accused under threat.
(2) Confession made by a lower grade person to senior officer under pressure.
(3) Confession given in presence of police.
(4) All of the above
9p. EITHE! iU HEAET TN &t A FEE TF] e A 2

(1) TSR e S (2) WA A A
3) AR e S @) adeiwr Td
To which of the following proceedings the Indian Evidence Act does not apply ?

(1) Proceedings of the District Court (2) Proceedings of the Session Court

(3) Proceedings before an Arbitrator (4) None of the above
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HreeR! wikar dfgen devla @eie faum faamm s 9 9ng I faer

(a) Tavm =g Sefusnd suft fodm s Seivet @ aamas 9m 9.

(b) TH HY TEUS S WY TR Beire fhar S fhar 2 awiven S fan s,
(1) Tour (a) TR 3T () T . (2)  (a) TAU TF SR (b) T SRt a2,
3)  (a) % (b) =1 Taum R oMeT. (4)  (a) NPT (b) S0 T <% e

Think about the following statements in relation to Criminal Procedure Code and choose
correct answer.

(a) Special judicial magistrate and special executive magistrate are synomenous terms.

(b) Sumon’s case means where punishment for an offence is capital punishment or life
imprisonment or punishment for more than 2 years is there.

Choose the correct answer.
(1} (a)iscorrectand (b} is wrong,  (2) (a) is wrong and (b) is correct.
(3) Both (a} and (b} are correct. (4) Both (a) and (b} are wrong.

92.

i 3 e

S RO IR 1o U TR ST, 3T ST heN Al ol TR Wiwar died
A TERITHR TESTHI BT W= AR iR Seat 31 ?

(a) 16 TutaeT Ff S st

(b) HITEAR ST T

(c) o AR HuEr gdm i

Tt I :
(1) = (a) (2)  (a) ST (o)
(3) (b) &fIT (¢ (4 atelE

Choose the correct answer

Under the provisions of Criminal Procedure Code when any offence which is punishable
by death or life Imprisonment is committed then also, who may be released on bail from
the following persons ?

(a) Person under the age of 16 years

(b} A woman of any age

(¢}  Any sick or infirm person

Answer options :

(1) only (2) (2) (@) and ()
(3) (b)and (c) (4) All of the above
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93. WRAT Wl UG SETS WACTIHY YESus! B g g FHvias gEn qEet 9@l 2
(a) DNA g feoen e
(by FufEa ooqix T
(c) = =9 o deare g
(d) T PEFH TS [EEE HE oo T

g IR e
(1) (b) 3afvr (d) : () (a) 37 ()
(3) ol ATE (4) T ud fuias [WE oma

Which of the following evidence is conclusive evidence according to the provisions of
Indian Evidence Act ?

{a) Evidence of DNA Expert

{b) Opinion of Medical Expert

() Evidence of fingerprint Expert

{d) Opinion expressed in text-book by specialist author

Choose the correct answer.

(1) () and (d) (2) (@) and (9

(3) None of the above (4) All are conclusive evidence

94, YWRHTD TRl 0T FHUA HEUd AeTl TE.
(A) (B)
(a) WETETA EaH () TET D RS
(b) G R (i) Frotes
(c) TzAREH Eak (iii) YT TE YAl

g 39

(@ @M (o)
(1 @ @) @
(2) G (@ @)
3) @) @) @

(49 @ @) ()

In relation to Indian evidence Act match the following,
{(A) {B)

(a) Rebuttable Presumption (i)  Shall presume

(b) Irrebuttable Presumption (i) Conclusive proof

(c) Presumption of facts (i) May presume
Answer Options :
{a} (b) (o)
(1) @ (i (i)
(2) () (D) (u)
(3) (i) (i) (i)
(4 O @) ()
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95. MIAT Wafl AT AT WG HIoH TRES W qres e ?
(1) ¥% TR 3R 9 TWHER A T HoS e,
(2) TR W HES M T G,
(3) TR TWRARS W .
(4) @ET AR FCUR T IS IS
Which of the following documents is not public document according to Indian Evidence
Act ?
(1) Documents forming the acts passed by Central or State Government.
(2) Laws/Acts or records of the acts of a foreign country.
(3) Returns filed with Income Tax Department.
(4) Unregistered will of a private person.
96. TETRN K=l SA(SHIT FZ THS T At I T T I [Ea T .
Q) 1298 ) 10=¢ (3) 798 (4) 3=d
The law presumes a person as dead if a person has not been heard of for
(1) 12 years (2) 10 years (3) 7 years (4) 3 years
97. WWHIE el WA FEEN FOH 91 TR S FRETH S IR U 36 WU F

TRIY S 7 it e s oo Afyenid wevr STen ST TR S SrEfava 3 da SER
et e F @ SE SR .

(1) Tag wm= e (2) wefyE TEE
(3) TEA yer I T (4) Tog = orm

According to section 91 of the Indian Evidence Act when a public officer is required by
law to be appointed in writing, and when it is shown that any particular person has acted
as such officer, the writing by which he is appointed ?

(1) needs to be proved (2) isirrelevant
(3) is not presumed (4) need not be proved
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98. TEro faumiat wiverd wiwan Hiear 1973 =01 gevia fawr %

(a) TR SR <A 4,

(b) THS FE ST IRE fha WRamRt FieE! w9

T I e

(1) (a) Forum e o (b) T AR, (2)  (b) o TR ST () T oM

@) (a) ST (b) RN IH A (4)  (a) SN (b) BE TR ST,

Think about the following statements in relation to Criminal Procedure Code 1973.

(a) Surety may be provided for the warrant,

(b) Arrest warrant may be executed anywhere in or outside India.

Choose the correct answer :

(1) (a) is correct (b) is wrong, 2) (b) is cotrect (a) is wrong,

(3} Both (a) and (b) are wrong,. (4) Both (a) and (b} are correct.

99, e <UIE AW YOET & TETAT SITEEredl Y G Haltg SHe deg 3 qua
U AR IOl FEETSA F@E 123 THR S0 TEriE TS S 2

(1) T gEE @) TN TS

(3) IR A (4) Hefya fqum v

When any evidence derived from unpublished official records relating to any affairs of
state, is to be given, then to give such evidence whose permission is required as per section
123 of the Indian Evidence Act ?

(1) Chief Minister of the state {2) Governor of the state

(3) Home Minister of the state (4) Head of the concerned department

FHoAT FHHTES IO /SPACE FOR ROUGH WORK
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qrem AERETS Gitden Frersdas 2013 79 BeRR giEEr Sfeda guron
T 3T,
(1) =gt @R, JmeEe () T & .
(8) A SFw (4) = S SR

The code of criminal procedure was amended in 2013 on the recommendations of the
Comumittee headed by

(1} Tustice P.B. Sawant (2} Justice ].S. Verma
(3} TJustice Srikrishna {4} Justice Ranjana Desai
-00o0-
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@) FegRaansd fofen Foom ffe e 79 =0 (W 9%6) FE,  TAqRasaiE Saahal o
TR ETEE ' FH FIF ¥ F TN R H R, ST IS RS q AER SHEARET
AR S Foan * qheimes g R Wiy FRugRmET sifufeae-82"" arie TEeer FRaw
T HE 9 ) ST FHE TF a0 FOEEE 0y THT T OF TR e ger iy
T .

(9) TR TR EE AR fafgd 0 I Huearo SRR § WAYREE Wt Theensee
UHT A TEATET AR, AT QHET HeieTE AToGrgEl ST eIt IEfaET WeT-1

WA 7 Foan U ST SEvaE Ak
AT Ued
TE FAF 201, HAE 90 T FOGEE] 0 geh: T F0 7
(1) T AT T Q) FEEg e
@) T UwEET W @ Thaess TS

V. . 201

T AFR AP I (3) TN TR W R AR, e W e S (3)" e e
TIATIRIG! T %. 201 GUNS IR-wuiE 1 (3)" ¥ A Joie0 BrEifea SE srafa s
R, ,

ONON MO

ST TG WA WG TR T T SOeRHS € gEe Ten qiaden

ITORHFFIE 1 @ FHASEEe ety a3z i sEifes e qrEaa.  greRiar
T oAl VIS AEu g, Ui o yige 31 aue .
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